COMMONWEALTH OF KENTUCKY

BEFORE THE PUBLIC SERVICE COMMISSION

In the Matter of:

ELECTRONIC TARIFF FILING OF CITY OF)
AUGUSTA REVISING ITS WHOLESALE) CASE NO. 2020-00277
WATER SERVICE RATES)

RESPONSE OF BRACKEN COUNTY WATER DISTRICT TO THE COMMISSION'S ORDER OF APRIL 30, 2021

Bracken County Water District submits its Response to the Commission's Order of April 30, 2021.

Dated: May 10, 2021 Respectfully submitted,

Gerald E. Wuetcher gerald.wuetcher@skofirm.com

Stoll Keenon Ogden PLLC

300 West Vine St. Suite 2100

Lexington, Kentucky 40507-1801

Telephone: (859) 231-3000 Fax: (859) 259-3517

Counsel for Bracken County Water District

CERTIFICATE OF SERVICE

In accordance with 807 KAR 5:001, Section 8, I certify that Bracken County Water District's electronic filing of this Response is a true and accurate copy of the same document being filed in paper medium; that the electronic filing was transmitted to the Public Service Commission on May 10, 2021; that there are currently no parties that the Public Service Commission has excused from participation by electronic means in this proceeding; and that within 30 days following the end of the state of emergency announced in Executive Order 2020-215 this Response in paper medium will be delivered to the Public Service Commission.

Counsel for Bracken County Water District

COMMONWEALTH OF KENTUCKY

BEFORE THE PUBLIC SERVICE COMMISSION

•	4.1	Th. # 4.4	n
In	tha	Matter	ot.
		VIALLE	171.

ELECTRONIC TARIFF FILING OF CITY OF)
AUGUSTA REVISING ITS WHOLESALE) CASE NO. 2020-00277
WATER SERVICE RATES)

RESPONSE OF

BRACKEN COUNTY WATER DISTRICT

TO

THE COMMISSION'S ORDER OF APRIL 30, 2021

FILED: May 10, 2021

VERIFICATION

COMMONWEALTH OF KENTUCKY)
COUNTY OF BRACKEN) SS:)
Manager of Bracken County Water District	ag duly sworn, deposes and states that she is the Office and that she has personal knowledge of the matters set ified as the witness, and the answers contained therein action, knowledge and belief.
	Diana Moran Office Manager Bracken County Water District
Subscribed and sworn to before me, this day of May 2021.	a Notary Public in and before said County and State,
	Michael Brothn Notary Public
	My Commission Expires: <u>Q - 19 - 202</u> 2
	Notary ID: 595522

Response to the Commission's Order of April 30, 2021 Case No. 2020-00277

Question No. 1

Responding Witness: Diana Moran

- Q-1. Identify the name and title or position of the person or persons who are responsible for directing the activities of counsel in this case, monitoring time spent by legal counsel, and approving or recommending payment of attorney fees.
- A-1. Chairman Anthony Habermehl is responsible for directing the activities of counsel in this proceeding and monitoring the hours billed to Bracken District for legal services. Chairman Habermehl frequently consults with the other members of the Board of Commissioners in performing this function. The members of the Board of Commissioners review all invoices for legal services and determine whether payment for the invoiced services should be made.

Response to the Commission's Order of April 30, 2021 Case No. 2020-00277

Question No. 2

Responding Witness: Diana Moran

- Q-2. Identify the name and title or position of the person or persons who are responsible for communicating with Augusta regarding proposed rate increases, and explain the nature of each such person's communications.
- A-2. Chairman Anthony Habermehl is responsible for communicating with Augusta officials regarding proposed rate increases and concerns about the reliability and efficiency of the Augusta Water Treatment Plant and Augusta's efforts to ensure that the Water Treatment Plant complies with federal and state laws and water industry best practices. Mr. Habermehl has expressed the concerns of Bracken County Water District's Board of Commissioners regarding the current state of equipment at the Water Treatment Plant and the Plant's ability to provide adequate service to Bracken County Water District. Mr. Habermehl has voiced similar concerns to Mr. Pat Taylor, who is the designated representative for Bracken County Water District on the Augusta Water Treatment Plant Advisory Board.

Since Bracken County Water District's intervention in this proceeding, its legal counsel has communicated with Augusta's legal counsel regarding the proposed rate adjustment and Bracken County Water District's concerns about the reliability and efficiency of the Augusta Water Treatment Plant. He also has conveyed Bracken District's requests for settlement discussions to resolve the rate case proceeding.

Response to the Commission's Order of April 30, 2021 Case No. 2020-00277

Question No. 3

Responding Witness: Diana Moran

- Q-3. a. Provide the names of all members of the Water Treatment Plant Advisory Board.
 - b. Provide all minutes from this Advisory Board's meetings since January 2020.
- A-3. a. Greg Mains (City of Augusta), Carol Boney (Brooksville) and Pat Taylor (Bracken County Water District).
 - b. See Attachment 1.

Water Treatment Plant Advisory Board Wednesday, January 15, 2020 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, January 15, 2020, at 1:00 pm at the water treatment plant. The following members were in attendance: Carol Boney and Pat Taylor. Also in attendance was Doug Padgett with the City of Augusta.

First the board reviewed the minutes from the December 17, 2019 meeting. After discussion, a motion was made by Pat Taylor, second by Carol Boney to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid.

Next, the Board was informed that Steve Mullins was ordering parts for Augusta high service pump #2, for the motor control valve.

The Board was informed that Doug Padgett will be out of town for training for the regular scheduled meeting in February. The Board decided to reschedule the meeting for Monday, February 24, 2020, at 1:00 pm at the water plant.

The Board was informed that the one of the overhead tube heaters had been repaired.

Next, the Board discussed that the Potassium chemical feed pump had to be replaced. The replacement pump had been ordered months ago because of the age of the existing pump.

The Board was informed that the FCC license for the plant's telemetry had been renewed.

Next, the board discussed the possibility of obtaining a beneficial reuse permit for the lagoons from the Division of Water. If a permit could be obtained and land was made available to dispose of the materials, the cost would be greatly reduced. It was that the Bracken County Industrial Site could possible meet the criteria.

Water Treatment Plant Advisory Board Monday, February 24, 2020 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Monday, February 24, 2020, at 1:00 pm at the water treatment plant. The following members were in attendance: Greg Mains, Carol Boney and Pat Taylor. Also in attendance was Doug Padgett with the City of Augusta.

First the board reviewed the minutes from the January 15, 2020 meeting. After discussion, a motion was made by Carol Boney, second by Pat Taylor to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid.

Next, the Board discussed getting the lagoons cleaned. One possible solution was to apply for a reuse permit that would allow the contents of the lagoons to be land farmed. It was also suggested to contact the Bracken County Industrial Authority regarding land farming the materials at the industrial park.

The Board was informed that the polymer chemical feed pump blew out a diaphragm. The old pump is obsolete and parts are not available. A new pump was installed on February 19, 2020.

Water Treatment Plant Advisory Board Wednesday, June 17, 2020 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, June 17, 2020, at 1:00 pm at the water treatment plant. The following members were in attendance: Greg Mains, Carol Boney and Pat Taylor. Also in attendance was Doug Padgett with the City of Augusta.

First the board reviewed the minutes from the February 24, 2020 meeting. After discussion, a motion was made by Greg Mains, second by Pat Taylor to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid.

Next, the Board discussed getting the lagoons cleaned. The City is hoping to receive funding through the Kentucky Infrastructure Authority to complete the project.

Next, the Board discussed that Steve Mullins had finished upgrading all lighting in the plant area to LED. The project was started in 2014.

Next, the Board reviewed the City's FY 2019 Audit.

Next, the Board was informed that a new air conditioning and gas furnace had to be installed to replace the bad one.

Next, the Board discussed a \$.15 rate increase from \$2.35 to \$2.50 per 1,000 gallons. The rates have not been changed since 2016. It was also noted that there is an increase in health insurance in the amount of \$12,000 per year. After discussion, a motion was made by Greg Mains, second by Pat Taylor to have Pat discuss the need for the increase with the Bracken County Water District.

The Board was informed that the transducer for the telemetry at Augusta's water tank was acting up and that Steve Mullins has been contacted to look at the issue. Steve Mullins is also going to schedule to rebuild two (2) solenoids, one is on the rapid mix area and the other is on the blow downs.

Water Treatment Plant Advisory Board Wednesday, July 15, 2020 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, July 15, 2020, at 1:00 pm at the water treatment plant. The following members were in attendance: Greg Mains and Carol Boney. Also in attendance were Doug Padgett, Mike Taylor, Michael Brothers, Anthony Habermehl, Dale Appleman, Brian Lovan, Diana Wilson and Paul Reynolds.

First the board reviewed the minutes from the June 17, 2020 meeting. After discussion, a motion was made by Greg Mains, second by Carol Boney to approve the minutes as presented. Motion carried

Next, the Board reviewed the monthly financial report and bills paid.

Next, the Board discussed getting the lagoons cleaned. The City is hoping to receive funding through the Kentucky Infrastructure Authority to complete the project.

Next, the Board discussed the proposed rate increase from \$2.35/1,000 gallons to \$2.50/1,000 gallons. Many members of the Bracken Water District and their engineers were in attendance to tour the plant and to ask questions. After discussion, a motion was made by Greg Mains, second by Carol Boney to approve the \$.15/1,000 gallon increase with the knowledge that future improvements will be necessary at the water treatment plant. Motion carried.

Water Treatment Plant Advisory Board Wednesday, August 19, 2020 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, August 19, 2020, at 1:00 pm at the water treatment plant. The following members were in attendance: Pat Taylor and Carol Boney. Also in attendance was Doug Padgett.

First the board reviewed the minutes from the July 15, 2020 meeting. After discussion, a motion was made by Carol Boney, second by Pat Taylor to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid. It was noted that the KU electric bill was omitted and will be added onto next month's report.

Next, the Board discussed getting the lagoons cleaned. The City is hoping to receive funding through the Kentucky Infrastructure Authority to complete the project.

Next, the Board discussed that the Chevrolet S-10 truck isn't worth repairing. The Mayor is working on getting the WTP another work truck.

Next, it was discussed that Carol Boney's term is due for reappointment.

Water Treatment Plant Advisory Board Wednesday, September 16, 2020 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, September 16, 2020, at 1:00 pm at the water treatment plant. The following members were in attendance: Greg Mains and Carol Boney. Also in attendance was Doug Padgett.

First the board reviewed the minutes from the August 19, 2020 meeting. After discussion, a motion was made by Carol Boney, second by Greg Mains to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid.

Next, the Board discussed getting the lagoons cleaned. The City is hoping to receive funding through the Kentucky Infrastructure Authority to complete the project.

Next, it was discussed that the sewer grinder pump has been replaced.

Water Treatment Plant Advisory Board Wednesday, October 21, 2020 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, October 21, 2020, at 1:00 pm at the water treatment plant. The following members were in attendance: Pat Taylor, Greg Mains and Carol Boney. Also in attendance was Doug Padgett.

First the board reviewed the minutes from the September 16, 2020 meeting. After discussion, a motion was made by Pat Taylor, second by Carol Boney to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid.

Next, the Board discussed getting the lagoons cleaned. The City has received an invitation to apply for Kentucky Infrastructure Authority financing to complete the cleaning project.

Next, the Board discussed that Augusta high service pump #1 needs the control valve rebuilt. Doug will notify Steve Mullins to proceed with the rebuild.

Next, it was discussed that the Division of Water will be conducting the sanitary survey for the water treatment plant virtually on November 27, 2020.

Next, it was reported that the Mayor of Brooksville will be submitting a letter recommending reappointment of Carol Boney for another 4-year term.

Next, it was discussed that the board members have not received any pay for their service so far this year. Doug will work with the City Clerk to rectify the issue.

Water Treatment Plant Advisory Board Wednesday, November 18, 2020 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, November 11, 2020, at 1:00 pm at the water treatment plant. The following members were in attendance: Pat Taylor, Greg Mains and Carol Boney. Also in attendance was Doug Padgett.

First the board reviewed the minutes from the October 21, 2020 meeting. After discussion, a motion was made by Pat Taylor, second by Carol Boney to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid.

Next, the Board discussed getting the lagoons cleaned. The City and Buffalo Trace ADD submitted the required documents on November 12, 2020, to Kentucky Infrastructure Authority.

Next, the Board discussed that Augusta high service pump #1 needs the control valve rebuilt. Doug will notify Steve Mullins to proceed with the rebuild.

Water Treatment Plant Advisory Board Wednesday, February 17, 2021 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, February 17, 2021, at 1:00 pm at the water treatment plant. The following members were in attendance: Pat Taylor, Greg Mains and Carol Boney. Also in attendance was Doug Padgett.

First the board reviewed the minutes from the November 18, 2020 meeting. After discussion, a motion was made by Pat Taylor, second by Carol Boney to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid.

Next, the Board discussed getting the lagoons cleaned. The City is waiting to hear back from Kentucky Infrastructure Authority regarding the application that was filed.

Next, the Board discussed the pending rate case through the Public Service Commission.

Next, the Board discussed that Augusta high service pump #1 was repaired in December.

Next, the Board discussed installing security cameras around the exterior of the water treatment plant for security purposes.

It was also discussed that the water meter feeding the chlorine injectors is acting up and that a water meter needed to be added to measure water use in the lab.

Water Treatment Plant Advisory Board Wednesday, March 17, 2021 1:00 P.M.

A meeting of the Augusta Regional Water Treatment Plant Advisory Board was held on Wednesday, March 17, 2021, at 1:00 pm at the water treatment plant. The following members were in attendance: Pat Taylor, Greg Mains and Carol Boney. Also in attendance was Doug Padgett.

First the board reviewed the minutes from the February 17, 2021 meeting. After discussion, a motion was made by Carol Boney, second by Greg Mains to approve the minutes as presented. Motion carried.

Next, the Board reviewed the monthly financial report and bills paid. After reviewing the total expenses it was determined that the total monthly expenses should be \$38,989.39. The report as submitted had the total expenses as \$68,351.48. The \$68,351.48 was the bank balance.

Next, the Board discussed getting the lagoons cleaned. The City is waiting to hear back from Kentucky Infrastructure Authority regarding the application that was filed.

Next, the Board discussed the pending rate case through the Public Service Commission.

Next, the Board discussed working on a new contract with CITGO Water (formerly C. I. Thornburg). The proposed contract will consist of CITGO supplying backup chemical pumps along with other equipment.

Response to the Commission's Order of April 30, 2021 Case No. 2020-00277

Question No. 4

Responding Witness: Diana Moran

- Q-4. Identify all expenses incurred by Bracken District in litigating this matter, and provide detailed invoices for those expenses.
- A-4. Bracken District has incurred expenses for legal services in the amount of \$16,089.62. The invoices for these services are attached as Attachment 2.

PLLC 300 West Vine Street Suite 2100 Lexington, Kentucky 40507-1801 (859) 231-3000

Tax Id #
October 12, 2020

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201

Brooksville KY 41004-0201

INVOICE NO.: 940278 SKO File No.: 118482/167860

PAYMENT REMITTANCE

Payments via regular mail: STOLL · KEENON · OGDEN PLLC

P.O. Box 11969

Lexington, Kentucky 40579-1969

Payments via ACH or EFT: Stoll Keenon Ogden PLLC IOLTA Account

Fifth Third Bank, Cincinnati OH

ABA/Bank Routing Number:

Account Number:

Please reference your account and invoice numbers.

Email remittance notice or questions to

payments@skofirm.com

Re: Augusta Wholesale Rate Increase 2020

Our Reference: 118482/167860/GEW/1008

Fees rendered this bill \$210.00

Total Current Charges This Matter \$ 210.00

PLLC 300 West Vine Street Suite 2100 Lexington, Kentucky 40507-1801

(859) 231-3000 Tax ld #

October 12, 2020

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201

Brooksville KY 41004-0201

INVOICE NO.: 940278 SKO File No.: 118482/167860

MATTER NAME: Augusta Wholesale Rate Increase 2020	
TOTAL FEES FOR PROFESSIONAL SERVICES PER ATTACHED	280.00
COURTESY REDUCTION	(70.00)
TOTAL CHARGES FOR EXPENSES AND OTHER SERVICES PER ATTACHED	0.00
INVOICE TOTAL	\$ 210.00
TOTAL BALANCE DUE	\$210.00

BILL DATE: October 12, 2020

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201 Brooksville, KY 41004-0201

Augusta Wholesale Rate Increase 2020

LEGAL FEI DATE	<u>es</u> Ind	DESCRIPTION OF SERVICE	HOURS	RATE	AMOUNT
09/02/20	GEW	Telephone call from T. Osterloh re: intervention in rate case proceeding	0.30	350.00	\$ 105.00
09/15/20	GEW	Review Augusta response to PSC Order of 8/25/2020; e-mail to client re: Response	0.50	350.00	175.00
		SUBTOTAL	0.80	-	\$280.00
	copies are	HER SERVICES billed at .10/page unless otherwise indicate RIPTION	ed		AMOUNT
	SUBTO	DTAL			0.00
GRAND TOTAL:				=	\$210.00
ATTORNE	//PARALE	EGAL SUMMARY			
TIMEKEE	PER	RANK	HOURS	RATE	AMOUNT
					AWOUNT

PLLC 300 West Vine Street Suite 2100 Lexington, Kentucky 40507-1801 (859) 231-3000

Tax Id#

February 8, 2021

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201

Brooksville KY 41004-0201

INVOICE NO.: 947937 SKO File No.: 118482/167860

PAYMENT REMITTANCE

Payments via regular mail: STOLL · KEENON · OGDEN PLLC

P.O. Box 11969

Lexington, Kentucky 40579-1969

Payments via ACH or EFT: Stoll Keenon Ogden PLLC IOLTA Account

Fifth Third Bank, Cincinnati OH ABA/Bank Routing Number:

Account Number:

Please reference your account and invoice numbers.

Email remittance notice or questions to

payments@skofirm.com

Re: Augusta Wholesale Rate Increase 2020

Our Reference: 118482/167860/GEW/1008

Fees rendered this bill \$1,786.12

Total Current Charges This Matter \$ 1,786.12

PLLC 300 West Vine Street Suite 2100 Lexington, Kentucky 40507-1801

(859) <u>231-3000</u> Tax ld #

February 8, 2021

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201

Brooksville KY 41004-0201

INVOICE NO.: 947937 SKO File No.: 118482/167860

MATTER NAME: Augusta Wholesale Rate Increase 2020	
TOTAL FEES FOR PROFESSIONAL SERVICES PER ATTACHED	2,381.50
COURTESY REDUCTION	(595.38)
TOTAL CHARGES FOR EXPENSES AND OTHER SERVICES PER ATTACHED	0.00
INVOICE TOTAL _	\$ 1,786.12
TOTAL BALANCE DUE	\$1,786.12

BILL DATE: February 8, 2021

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201 Brooksville, KY 41004-0201

TOTAL:

Augusta Wholesale Rate Increase 2020

LEGAL FEI	<u>es</u> Ind	DESCRIPTION OF SERVICE	HOURS	RATE	AMOUNT
01/20/21	GEW	Prepare motion for ruling and establishment of procedures schedule	1.00	360.00	\$ 360.00
01/29/21	GEW	Email message; draft reply to Augusta's Response to Motion for Ruling	0.50	360.00	180.00
01/31/21	DRT	Conferred with Jerry Wuetcher re Bracken's draft Reply to Augusta's Response opposing Bracken's motion; discussed legal strategy with Jerry Wuetcher. No Charge.	0.00	0.00	0.00
01/31/21	DRT	Reviewed Augusta's Response opposing Bracken's Motion for Ruling and to Establish Procedural Schedule; reviewed draft Reply to Augusta's Response; re-organized draft Reply and added argument headings to Reply; prepared email memo to Jerry Wuetcher explaining rationale for suggested changes	1.10	365.00	401.50
01/31/21	GEW	Draft reply to Augusta response	4.00	360.00	1,440.00
		SUBTOTAL	6.60		\$2,381.50
	copies are	THER SERVICES billed at .10/page unless otherwise indicate RIPTION	ed		AMOUNT
	SUBT	OTAL			0.00
GRAND					\$1,786.12

ATTORNEY/PARALEGAL SUMMARY

TIMEKEEPER	RANK	HOURS	RATE	AMOUNT
D. R Talley	Of Counsel	1.10	365.00	\$401.50
G. E Wuetcher	Of Counsel	5.50	360.00	\$1,980.00

PLLC 300 West Vine Street Suite 2100 Lexington, Kentucky 40507-1801 (859) <u>231-3000</u>

Tax ld#

March 16, 2021

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201

Brooksville KY 41004-0201

INVOICE NO.: 949171 SKO File No.: 118482/167860

PAYMENT REMITTANCE

Payments via regular mail: STOLL · KEENON · OGDEN PLLC

P.O. Box 11969

Lexington, Kentucky 40579-1969

Payments via ACH or EFT: Stoll Keenon Ogden PLLC IOLTA Account

Fifth Third Bank, Cincinnati OH

ABA/Bank Routing Number: Account Number:

Please reference your account and invoice numbers.

Email remittance notice or questions to

payments@skofirm.com

Re: Augusta Wholesale Rate Increase 2020

Our Reference: 118482/167860/GEW/1008

Fees rendered this bill \$5,103.00

Total Current Charges This Matter \$ 5,103.00

PLLC

March 16, 2021

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201

Brooksville KY 41004-0201

INVOICE NO.: 949171 SKO File No.: 118482/167860

MATTER NAME: Augusta Wholesale Rate Increase 2020	
TOTAL FEES FOR PROFESSIONAL SERVICES PER ATTACHED	6,804.00
COURTESY REDUCTION	(1,701.00)
TOTAL CHARGES FOR EXPENSES AND OTHER SERVICES PER ATTACHED	0.00
INVOICE TOTAL	\$ 5,103.00
TOTAL BALANCE DUE	\$5,103.00

BILL DATE: March 16, 2021

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201 Brooksville, KY 41004-0201

Augusta Wholesale Rate Increase 2020

LEGAL FE	<u>es</u> Ind	DESCRIPTION OF SERVICE	HOURS	RATE	AMOUNT
02/01/21	GEW	Telephone call with A. Habermehl re: Reply to Augusta's Response; finalize and file reply;	0.40	360.00	\$ 144.00
02/05/21	GEW	Prepare notice of compliance with PSC Order of 2/1/2021; prepare request for information	3.80	360.00	1,368.00
02/06/21	GEW	Prepare request for information	2.50	360.00	900.00
02/08/21	GEW	Revise request for information; telephone call to A. Habermehl; e-mail messages and telephone call to Bluegrass Engineering;	1.00	360.00	360.00
02/10/21	GEW	Revise and file request for information to Augusta	1.00	360.00	360.00
02/11/21	GEW	Review Motion to Strike	1.10	360.00	396.00
02/12/21	GEW	Prepare motion to strike; conference call with A. Habermehl, D. Moran, & Bluegrass Engineering; telephone calls to Augusta counsel (T. Osterloh)	4.00	360.00	1,440.00
02/16/21	GEW	Telephone call from T. Osterloh (Counsel for Augusta)	0.30	360.00	108.00
02/17/21	GEW	Telephone conference call with Bracken District's Bd of Commissioners	0.20	360.00	72.00
02/24/21	GEW	Review of Augusta's Responses to Requests for Information	1.60	360.00	576.00
02/26/21	GEW	Telephone call with A. Habermehl; arrange conference call; review Augusta response to request for information	3.00	360.00	1,080.00
		SUBTOTAL	18.90		\$6,804.00

EXPENSES AND OTHER SERVICES

**note: all copies are billed at .10/page unless otherwise indicated

DATE	DESCRIPTION	AMOUNT
	SUBTOTAL	0.00
GRAND TOTAL:		\$5,103.00

ATTORNEY/PARALEGAL SUMMARY

TIMEKEEPER	RANK	HOURS	RATE	AMOUNT
G. E Wuetcher	Of Counsel	18.90	360.00	\$6,804.00

PLLC

300 West Vine Street Suite 2100

Lexington, Kentucky 40507-1801 (859) <u>231-3000</u>

Tax Id#

May 6, 2021

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201

Brooksville KY 41004-0201

INVOICE NO.: 953383 SKO File No.: 118482/167860

PAYMENT REMITTANCE

Payments via regular mail: STOLL · KEENON · OGDEN PLLC

P.O. Box 11969

Lexington, Kentucky 40579-1969

Payments via ACH or EFT: Stoll Keenon Ogden PLLC

Note: this is a new account—please update

Stoll Keenon Ogden PLLC
Central Bank, Lexington, KY

ABA/Bank Routing Number:
Account Number:

Note: this is a new account—please update your records

Please reference your account and invoice numbers. Email remittance to payments@skofirm.com

Re: Augusta Wholesale Rate Increase 2020

Our Reference: 118482/167860/GEW/1008

Fees rendered this bill \$3,726.00

Total Current Charges This Matter \$ 3,726.00

PLLC
300 West Vine Street
Suite 2100
Lexington, Kentucky 40507-1801
(859) 231-3000
Tax Id #

May 6, 2021

Bracken County Water District 1324 Brooksville Germantown Road

P.O. Box 201

Brooksville KY 41004-0201

INVOICE NO.: 953383 SKO File No.: 118482/167860

MATTER NAME: Augusta Wholesale Rate Increase 2020	
TOTAL FEES FOR PROFESSIONAL SERVICES PER ATTACHED	4,968.00
COURTESY REDUCTION	(1,242.00)
TOTAL CHARGES FOR EXPENSES AND OTHER SERVICES PER ATTACHED	0.00
INVOICE TOTAL	\$ 3,726.00
TOTAL BALANCE DUE	\$3,726.00

BILL DATE: May 6, 2021

Bracken County Water District 1324 Brooksville Germantown Road P.O. Box 201 Brooksville, KY 41004-0201

Augusta Wholesale Rate Increase 2020

LEGAL FE	ES				
DATE	IND	DESCRIPTION OF SERVICE	HOURS	RATE	AMOUNT
04/13/21	GEW	Review of e-mail messages from T. Osterloh; prepare responses to those messages; telephone call with A. Habermehl re: Augusta request for additional information	0.40	360.00	\$ 144.00
04/14/21	GEW	Prepare response to Augusta counsel's request for explanation of offer	2.00	360.00	720.00
04/15/21	GEW	Complete preparation of response to Augusta counsel's request for explanation of offer; e-mail exchange with P. Reynolds re: revisions to explanation; text exchange with A. Habermehl	1.00	360.00	360.00
04/16/21	GEW	Prepare motion for hearing and issuance of subpoenas; prepare email message advising Augusta's counsel of reasons for motion	2.00	360.00	720.00
04/19/21	GEW	Telephone conversation with T. Osterloh Re: settlement proposal; telephone call with A Habermehl Re: settlement proposal and Augusta's response; prepare email to negotiating group Re: Augusta's response	1.10	360.00	396.00
04/20/21	GEW	Telephone conversation with T. Osterloh Re: settlement conference; telephone call with A Habermehl Re: settlement conference; telephone call to P. Reynolds re: settlement conference; prepare email to T. Osterloh Re: Settlement conference	1.00	360.00	360.00
04/25/21	GEW	Prepare reply to Augusta's Response to Motion for Hearing	2.00	360.00	720.00
04/26/21	GEW	Prepare reply to Augusta's Response to Motion for Hearing	3.00	360.00	1,080.00

DATE	IND	DESCRIPTION OF SERVICE	HOURS	RATE	AMOUNT
04/27/21	GEW	Response to e-mail from T. Osterloh re: responses to request for information	0.20	360.00	72.00
04/29/21	GEW	Message to T. Osterloh re: settlement meeting; messages to A. Habermehl/Bluegrass Engineering re: negotiation strategy; telephone conference call with Bluegrass			
		Engineering	1.10	360.00	396.00
		SUBTOTAL	13.80		\$4,968.00
EXPENSES AND OTHER SERVICES **note: all copies are billed at .10/page unless otherwise indicated DATE DESCRIPTION					AMOUNT
	SUBTO	DTAL			0.00
GRAND TOTAL:					\$3,726.00
ATTORNE	//DADALE	GAL SUMMARY			
TIMEKEE		RANK	HOURS	RATE	AMOUNT
G. E Wuet	cher	Of Counsel	13.80	360.00	\$4,968.00